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mare | LB | 1B | qork | 20f% | 301t | 0rt | 50K | 60ft | 0% | 80fK | 90ft | \0F| e | 3
IR 31 12 6| 1 7 3 1 1
KiEmh 18| 20| 23] 33| 35| 33 14 1
S s 11 10| 24 6| 16| 16| 14 6 31 10 2
ZRREM 1 13 8 8 9] 13 9 7 3 2
Eihf] 12| 15 17 10[ 15 T 8 2
==)=911h7] 1 5 9 3] 12 2 4 4 1
EEm 4 5 3 2 7 4 2
R 9 8 7 3 3 6 3 1
PEH 9] 14 9 9] 13 7 4 1
BEARH 1 4, 13 3 3 7 5 5
ERMxm 1M 12 4 171 10 3 5 1
537 8 10 4 5 8 4 1 2
BIFE™ 200 26| 23| 19wLliN Vi 8 4 4 2
EIVEN W 131 170 12| 23] 10 9 6 3
B 1 9 3 1 2 2 2 1 1
ooy o] 5 5 8 3 5 1 3 1
BT 2 2 1 3 2
A& 4 4 3 41 10 1 2
L 15 T 1 9 8 5 4 3 2
Tam 4 3 1 3 5 2 3 2
BT 3 1 5 3 4, 12 2 3 8 2 1
ISz = T 5 4 2 8 5 4 1 1 1 1
SERNET 2 6 3 8 1
=X 2 2 1 3 1 3 1
HHET 1 5 4 4 5 5 3 1 1 1
B8 47 [RHET 1 1 2 1
fHEHET 1 2 1 2 2 1 3 2
w2 RET 1 1 1 1 1
Z2/\ET 2 1 1 1 1
B2 |BT 1 2 5 3 1 1 2
REFHET 1 5 2 2 6 5 2 1 2
s ERET 1 4 3 2 3 2 5 2 3
byl 1 3 2 1 1
IR AT 1 3 1 2 1
=Yk 5 3 5 1 1 2 1
JIZ/T 1 1 3
HRET 1
PAV=D=Liil| 4 2 1 1 1 1
=J111: 1 1
=M1k
fENSET 2 2 5 4 2 1
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st 121 210 256| 172| 245 BWaYs 172 17 1 0
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